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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1)

(ii)
(1it)
(iv)
(v)
(vi)

(vii)

This question paper comprises four Sections — A, B, C and D.
There are 33 questions in the question paper. All questions are
compulsory.

Section A - Questions no. 1 to 16 are very short answer type
questions, with each question/part carrying 1 mark.

Section B — Questions no. 17 to 25 are short answer type questions,
carrying 2 marks each.

Section C - Questions no. 26 to 30 are long answer type-I
questions, carrying 3 marks each.

Section D - Questions no. 31 to 33 are long answer type-II
questions, carrying 5 marks each.

There is no overall choice in the question paper. However, an
internal choice has been provided in 7 questions/parts of one mark,
3 questions of two marks, 2 questions of three marks and all the
3 questions of five marks. You have to attempt only one of the
choices in such questions.

In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viii) Use of calculators and log tables is not permitted.

SECTION A

Read the passage given below and answer the following
questions : 4x1=4

The carbon-halogen bond of alkyl halide is polarised due
to high electronegativity of halogen. The boiling points of alkyl
halides are comparatively higher than the corresponding
hydrocarbons. These are slightly soluble in water but
completely soluble in organic solvents. The polarity of
C — X bond of alkyl halides is responsible for their nucleophilic
substitution, elimination and their reaction with metal atoms.
Nucleophilic substitution reactions are categorised as Sy1 and
SN2 on the basis of their kinetic properties.
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The following questions are multiple choice questions :

%E

(i)  Which of the following has the lowest boiling point ?
CHy
|
(A) CHg- (|3 —-Cl
CHgq
(B) CH3-CH,-CHjg

(C) CHy~CH - CH, - CHy
CH,4

(D) CHjz - CHy — CHy - CHy - C1

(i1)(a) Which of the following is least reactive towards
SN2 reaction ?

(A) CH3CH, - CH, - CH, - Cl

(B) CHy - CH - CH, - Cl
CH,

() CHy—CH - CH, - CHy
Cl
CH,

(D) CHj- (:3 —Cl
CH,4

OR
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(i1)(b) Which of the following is most reactive towards
Sn1 reaction ?

(iii)

(iv)

56(8)

(A)
(B)
()
(D)

1-Bromopentane
1-Bromo-2-methylbutane
2-Bromopentane

1-Bromo-3-methylbutane

The ITUPAC name of CH3 —CH=CH-CH - CH3 1S :
|

(A)
(B)
(C)
(D)

Cl
2-Chloropent-3-ene

4-Chloropent-3-ene
4-Chloropent-2-ene
2-Chloropent-4-ene

Which of the following molecules is chiral in nature ?

(A)

(B)

(C)

(D)

OH
I

CH3 — (IE — CH3
Br

CH; - CH - CHyq
I

Br
H
|
CH3 — CH,, - (|3 — CH3
Br

CH3 — CHZ — CH2 — CHZ — Br
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2. Read the passage given below and answer the following
questions : 4x1=4

Adsorption is the phenomenon of attracting and
retaining the molecules of a substance on the surface of a solid
resulting into a higher concentration on the surface than in the
bulk, while in absorption the substance is uniformly
distributed throughout the bulk of the solid. Heat is released
during adsorption. Depending upon the forces there are two
types of adsorption : Physisorption and Chemisorption. The
relationship between extent of adsorption and pressure of the
gas at constant temperature is known as Freundlich
adsorption isotherm.

In the following questions (Q. No. 2 (i) - (iv)) a statement of
assertion followed by a statement of reason is given. Choose
the correct answer out of the following choices.

(A) Assertion and Reason both are correct statements and Reason
is the correct explanation of the Assertion.

(B) Assertion and Reason both are correct statements, but Reason
is not the correct explanation of the Assertion.

(C) Assertion is a correct statement, but Reason is a wrong
statement.

(D) Assertion is a wrong statement, but Reason is a correct

statement.
(1)  Assertion : Adsorption is endothermic in nature.
Reason : The residual attractive forces of the

adsorbent are responsible for attracting
the adsorbate on its surface.
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(11) (a) Assertion :

Reason :

(b) Assertion :

Reason :

(111) Assertion :

Reason :

(1v) Assertion :

Reason :

The following questions (Q. No. 3 to 11) are multiple choice questions :

Absorption is a bulk phenomenon.

Silica gel shows adsorption while
anhydrous calcium chloride shows
absorption.

OR

Aqueous solution of raw sugar when
passed through charcoal becomes
colourless.

The colouring substances are
adsorbed by the charcoal.

Physisorption is specific in nature.

Physisorption arises due to van der Waals
forces.

The extent of adsorption (%) is constant

at high pressure.
At high pressure 1 =0 and
n

X
— = constant.
m

3. Nucleic acids are polymers of :

(A) D-ribose
(B) Amino acids
(C) Nucleotides

(D) Nucleosides
56(B).
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4. (a)
(b)
5. (a)

Which of the following has d® configuration ? 1
(Atomic number Mn = 25, Cr =24, Ti =22, Cu=29)
(A) Mn?*
(B) Cr?*
(C) Ti%*
(D) Cu?*
OR
Which one of the following transition metals does not
show variable oxidation states ? 1
(Atomic number Sc = 21, Fe =26, Cr =24, Cu = 29)
(A) Sc
(B) Cr
(C) Cu
(D) Fe
What type of defect is shown by NaCl ? 1

(A)
(B)
(C)
(D)

Frenkel defect
Schottky defect
Both Frenkel and Schottky defect

Impurity defect
OR
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(b)

Which of the following will create F-centre in a crystal ?
(A) ZnS

(B) NaCl

(C) AgCl

(D) AgBr

6. The maximum covalency of nitrogen in NyOx is :

(A)
(B)
(C)
(D)

7. (a)

(b)

56(8)

Ot W B~ DN

The oxidation state of Coin [Co(NH3),Cl5ICl 1is :
(A) +3
(B) +2
(C) +4
(D) +6
OR
Which one of the following is a homoleptic complex ?
(A)  [Pt(NHg)oCls]
(B) [Co(NH3),Clol*
(C) KylFe(CN)gl
(D) [Co(NHj3),CI(NOy)]Cl1
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metal ion ?

(A)
(B)
(C)

(D)

(A)

(B)

(C)

(D)

Hy0
HoN — CH, — CH,y — NH,
NH,

Cl

The major product formed in the following reaction is :

CH,CH :
I UV light _

J
X

CH, — CH;

Page 9 of 36
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10. The formula of the coordination compound
pentaamminenitrito-O-cobalt(IIl) is :

(A) [CO(NH3)5(N02)]+
(B) [Co(NHj3)5(NOg)|2*
(C) [Co(NH3)5(ONO)I?*

(D) [Co(NH3)5(ONO)I*

11. (a) Which of the following is not a molecular solid ?

(A) N,
B) I,

(C) SiC

(D) CO,
OR

(b) The number of atoms per unit cell in a body-centred cubic
unit cell is

(A) 4
(B) 2
C) 1
(D) 3

s Pge 10013



In the following questions (Q. No. 12 - 16) a statement of
assertion followed by a statement of reason is given. Choose
the correct answer out of the following choices.
(A) Assertion and Reason both are correct statements and Reason
is the correct explanation of the Assertion.
(B) Assertion and Reason both are correct statements, but Reason
is not the correct explanation of the Assertion.
(C) Assertion is a correct statement, but Reason is a wrong
statement.
(D) Assertion is a wrong statement, but Reason is a correct
statement.
12. Assertion : p-nitrophenol is more acidic than phenol.
Reason : Nitro group is electron withdrawing group and
stabilizes p-nitrophenoxide ion. 1
13. Assertion : Despite having an aldehydic group glucose does
not give 2,4-DNP test.
Reason : Glucose is a reducing sugar. 1
14. (a) Assertion:  Iron on reaction with HCI gives FeCl, and
not FeCls.
Reason : Cl, gas produced from the reaction
prevents the oxidation of FeCls to FeClsg. 1
OR
(b) Assertion : Fluorine has less negative AegHo than
chlorine.
Reason : Fluorine has smaller size than chlorine. 1
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15. Assertion : Propanone is more reactive towards

nucleophilic addition as compared to propanal.

Reason : Propanone gives 2,4-DNP test. 1
16. Assertion : Noble gases have very low boiling points.
Reason : Noble gases have very weak dispersion forces. 1
SECTION B

The following questions (Q. No. 17 to 25) are short answer type and
carry 2 marks each : 9Ix2=18

17. (a) Write the structures of the products when

(1) Phenol is treated with bromine water, and

(i1) Propanol is heated with Cu at 573 K. 2x1=2
OR
(b) Carry out the following conversions : 2x1=2

(i) Ethanol to ethyl cyanide

(i1) Phenol to acetophenone

18. Write two differences between an Ideal solution and Non-ideal
solution. 2

19. (a) Write the hybridisation, shape, magnetic behaviour and
IUPAC name of the complex [Fe(CN)gl*~. (Atomic

number of Fe = 26) 2
OR

(b) What is crystal field splitting energy ? How does the
magnitude of A, decide the actual configuration of

d-orbitals in a coordination entity ? 2

s ge 12013



21.

22,

23.

24.

For a first order reaction, show that time required for
99% completion is twice the time required for the completion of
90% of reaction. (log 10 = 1) 2
(a) Account for the following : 2x1=2
(i) Transition metals show variable oxidation states.
(i1) Trivalent lanthanoid ions are coloured both in solid
state and aqueous solutions.
OR
(b) Why does Mn show maximum number of oxidation
states ? Which oxidation state of Mn is most stable and
why ? 2
Write the name of reagent(s) used in the following reactions :
2x1=2
0
(i) CH3CHO —— CH3CH,0OH
OH
. ?
(i1) —
Why is chlorobenzene less reactive towards nucleophilic
substitution ? Give two reasons. 2
Write the equations involved in the following reactions : 2x1=2

(i) Hoffmann bromamide degradation

(1) Diazotisation
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25. An element with molar mass 72 g mol~! forms a cubic unit cell
with edge length 400 pm. If its density is 7-5 g cm™2, identify
the nature of the cubic unit cell. 2

SECTION C
Q. No. 26 to 30 are long answer type-I questions carrying 3 marks
each. 5x3=15

26. (a) What happens when

(1) bromobenzene is treated with Mg in the presence of

dry ether;

(i1) chlorobenzene is treated with CHgCl in the presence
of anhydrous AlClg; and

(ii1) methyl chloride is treated with AgCN ? 3x1=3
OR
(b) Do the following conversions : 3x1=3

(i) Chloroethane to butane
(i1) 2-bromopropane to 1-bromopropane

(i1i) Ethyl chloride to propanoic acid

27. (1) Whyis EOC 24/ exceptionally positive ?

u u

(i) Why is Sc3* colourless but Ti3* is coloured ?

(iii) Why do transition metals and their compounds show

catalytic activities ? 3x1=3
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28. (a)

(b)

Define the following terms : Ix1=3
(1) Anomers
(i1) Peptide linkage
(i11) Denatured protein
OR
What happens when glucose is treated with : 3

(1) bromine water ?
1) HI?
(iii) HoN -OH ?

29. Vapour pressure of water at 293 K is 17-536 mm Hg. Calculate

the vapour pressure of aqueous solution when 20 g of glucose

(Molar mass = 180 g mol™1) is dissolved in 500 g of water. 3

30. A first order reaction takes 30 minutes for 60% decomposition.

Calculate tq9. 3
[Given : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021, log 10 = 1]

SECTION D

Q. No. 31 to 33 are long answer type-II questions carrying 5 marks

each.

31. (a)

3x5=15

(1) Account for the following :
(I) NHg is a stronger base than PHsg.
(II) Oxygen shows —2 oxidation state except in OF.
(ITI) Fluorine shows anomalous behaviour.
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(i1) What happens when
(D Cly reacts with cold and dilute NaOH; and
(II) Cureacts with concentrated HySOy4 ? 3+2=5
OR
(b) (i) Arrange the following in the order of property
indicated for each set with reason :
(I) HF, HCI, HBr, HI — decreasing acidic strength
(I NHg, PH3, AsHg, SbH3, BiH3 — increasing
bond angle
(III) HyO, HyS, HySe, HyTe — increasing acidic
strength
(ii)) Why are halogens
(I) coloured in nature; and
(II) strong oxidising agents ? 3+2=5
32. (a) (1) Identify A, B and C in the following reactions :
CrO '
() CHg-CH,-OH —3»> A 9LNaOH 5 4 ¢

CH; kMnO,, KOH H+* _ PCL
(IT) A > A > B > C
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(i1) Distinguish between the following pairs :

|
O

COOH

and @
3+2=5

R

(II)

s
Q

(b) ()  Write the product(s) in the following reactions :

COOH
conc. HNOg + H,S0
(I) >
CHO
(1) @ conc. NaOH _

(a) SnCl, + HC1
(b) HyO* ]

(II) CH4CN

(11) Give reasons :

(I) Carboxylic acids do not give the reactions of
carbonyl group.

(I) In semicarbazide (HoNCONHNH,y), only
one — NH, is involved in the formation of

semicarbazones. 3+2=5
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33. (a) Calculate the emf and AG of the following cell at 298 K : 5
Mg (s) | Mg2* (103 M) || Cu?* (1074 M) | Cu (s)

Given : E ; =+ 270V, 1F = 96500 C mol-1, log 10 = 1

OR

(b) (i) Calculate the A.G° and log K, for the following
reaction :8

Fe?* (aq) + Ag* (aq) ——> Fe3* (aq) + Ag (s)

E° = +077V, E° = +080V
Fe3t/Fe2t Ag'/Ag

(i1) State Kohlrausch’s law of independent migration of

ions. Write its one application. 3+2=5

s ge 15.f 3
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HTHT= 13537 :
HETITIEd 1391 @1 S5 GIaer] & i 3R 377 ded] & q1c7 HIfrg :

(1)

(it)

(ii1)

(iv)

(v)

(vi)

(vii)

I8 Yo7-97 WR @USl § fayifsia a7 T_T 8 - &, @, T U9 g | 39
v7-97 4 33 397 & | @4t o7 7T & |

@Ue & 4 o7 & 18 16 7 37id Tg-3H/T JHPR & J97 &, TA%
JT/9MT 1 37% T 8 |

GUg & 4 J97 &7 17 T 25 T TY-IHT PR & o7 &, T4 To7
2 HH FE

@S T F Y97 GEIT 26 T 30 7 FH-ITHIT FER-I F JI7 &, IIF I
3 3Pl FE |

@V 7§ J97 G&47 31 & 83 % -3 YhR-1I & I3 &, 9% J97
5 37 #T & |

o7-97 7 HI3 GHY [abeq 781 & | T4, Th-Teh 37 & &Iid Jo71/ 970 7,
g1-21 37H & @ Fol 4, @7 STH & @ IoA F a9r via-uig Al &
Tl FoT1 § =Rk ey 10 7 & | vq YvTl 4 @ P U & f[AdHey
BT I GorT |

$T% A, ATFIHAFAR, J9b U8 3N 97 & TIT Jd 195357 13T
T E

(viii) FePpicT IYAT T 2T B JINT @ IFHlT Tg1 8 |

1.

«vus <h

i fou 7T Tg=sg i dfen qun fF=faled ool & S e . 4xI=4
Ufehdd  BNSE 1 hleH-gddlod  AEY gl 6l 3=
TR RUTTcHRaT o HRU giad Bd & | Yol galgsl o FHh &d
BISSIRISHI ohl JoT § 3Tfeh BId & | 3 A § 379 Ao Sfafeh hlei-h
foemreni ¥ Ui &9 ¥ fooid 3id & | Ufoshd garssl # C — X &Y 6l
gl 3ok AR SfereemoH, faatia e enfeaes qampsti @ srffsean

o foTu STierRlt 3 | oo SorTfdehl o TR W ARt Tfaedma=
W&Waﬁ 1 Syl qA1 S\2 | Fffepd fepar ST 2 |




feffad ye sglosheda o 2
(i) Tfifad # @ fopeerT =Ja G 8 ?
CH,
|
(A) CHg- (|J - Cl
CH,

(B) CH;-CH,y - CHyq

(C) CHy - CH - CH, - CHy
CH,4

(D) CHjz - CHy — CHy — CHy - C1

(ii)a) FMHfafgd # & =H-w1 Sy2 AWfEn % wid w=oq +H
SIRIPRINIK R

(A) CH5CH, - CH, - CH, - Cl

(B) CH3-CH - CH,-Cl
|
CH,

(©) CHy - CH - CHj - CH,
Cl
CH,

(D) CH,- <:3 - Cl
CH,

YT
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(ii)(b) FHffgd # & =H-E1 Syl AWisEN & fd wew i

(iii)

srirfshamsiiat & 2
(A)  1-sHH=eA

(B) 2-smI-2-Hfdrereyed
(C) 2-§mu=A
(D)  1-5HI-3-HfoeTeg e

CH; — CH = CH - CH - CH %1 IUPAC ™ % :
I

Cl
(A)  2-FANU=E-3-39

(B) 4-FARU=<-3-34
(C) 4-FARU<C-2-34
(D) 2-FARU<-4-34

(iv) frafaRaa smwed 8 @ fradht ywfa fhe 2 2

56(8)

OH
(A) CHg- (:3 — CHgq
Br
(B) CHg- (le — CHg4
Br
H
(C) CHg-CH, - (:3 — CHyq
Br
(D) CHg-CHy-CHy-CH, - Br
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i feu MU =g i ufeu qun fefaled uei & S e . 4xI=4

ey o7 uitgedt 8 ad frel 3 o1 4y forell uared o
AT ohl IThNA HL TRUT L AT 7, SHeh TRUTHEEET I8 T e
ST HFGU T hl o1 H 96 Al g S&ieh @SN § Uge, 39
YU T H 99H &9 9 foaia g Sar @ | AN o SR S
freherdl 3 | i o SMMYR W I YhR b AeIE0r : Wifceh SATE=IY0T
AT TEEHH SN B 8 | Toh R q o sfeemiwor <1 #en w@
19 % g9 o S GGY ol HIA-Slcleh STRIT0 GHATIT o6 90 § STHT
STl 8 |

fAaferiad 94 (997 G&ar 2 (i) - (iv) ) # U SIfUhIT 97 39 HRT
T o fa7 77 § | Arferfaa fawmeql @ @ @gt 3w giiv |

(A)

(B)

(C)
(D)

JAMRAT 3R HRUT T F@l HAF & T T, AR i Tt
T 2 |

e TR SRV T TE HIT §, T BRI, YT 6 T
T 787 § |

R FE U 8§, T HRYT Teid HYF 7 |

R TTTd HAYF g, T HRU F&l HAF 8 |

() SyT. Aty At yehfa oA Bt B |

HRY : TR o AR AHYY o & IFh I8 W
3fferssa 1 SMThf¥a S % foIT Ieert B # |
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(i) (a) 37YHYT: ITAMY Teh LA UNET B |
HN : fafeaem S stfesnye ewiar 8 Sl e
HCHTH FANSE ST AT & |

AYgAT
(b) YBYT: FHHI WhU & ST =T Hl IRehIA o

gdTfed shid 9T TTaF & SIrdT 2 |

HR : Tl gere Iehlal gry JTfeenfyd &1 3d 3 |

(iii) STYHYT : wifoes stfermyor it wepfa fafire grh 7 |

BRI : Wifaer AT Ie I Jdt % HROT Jidl
2 |
(Gv) 7YY : mmmaﬁa@ﬂwﬁw(é) fer g 2 |
BRI : FEEE W L —oam X —feR |
n m

At o7 (F97 G 8 & 11) Fglaehetiq 397 8 :

3. i T g ¢ | 1
(A)  D-UzE™
(B) UHMI 3=l
(C) —fFAsTTESi
(D) —fFdsTETse]
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(b)

5. (a)

Fr=fafaa 9 9 forget 45 fa=ma 2 2 1
(YEET] 3RHT Mn = 25, Cr =24, Ti=22, Cu=29)

(A) Mn2+

(B) Cr2t

(C) Ti%*

(D) Cu?t

AT

frefIiad o € SH-91 FehAvl 9T INAH T STTFEThiu] e

TE1 <Id1 & ? 1
(FT] AT Sc = 21, Fe =26, Cr =24, Cu=29)

(A) Sc

(B) Cr

(C) Cu

(D) Fe

NaCl gRT TohHl YRR <1 GIY GRTAT ST & ? 1
(A) hehel 3N

(B) iesh g

(C) Thehd T TTCHT 3T M

(D) YLl TN

HAYAT
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(b)

frfeaifaa ® & H-a1 fohted 0 Fohg 9a1 8 2
(A) ZnS

(B) NaCl

(C) AgCl

(D) AgBr

6. NyOp H AR hl IATUHhaH FFEIASThT & :

(A)
(B)
(C)
(D)

7. (a)

(b)

56(8)

2
4
3
5

[Co(NH3)4Cly]C1 H Co i SATeRTohTuT STaeer 7 :

(A) +3
(B) +2
(C) +4
(D) +6

AYAT

fTfIRad ¥ ¥ SH-A1 g 5% & ?
(A)  [Pt(NH3),Cly)]

(B) [CO(NH3)4012]+
(C) K,[Fe(CN)gl
(D) [Co(NHj3),ClI(NOy)ICI
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8.

~

(@

=l
?

W ThH

(A)
(B)
(C)
(D)

(A)

(B)

(C)

(D)

H,0

H,N - CH, - CH, — NH,
NH;

Cl

frefafaa stfufshan & o9 aTel & 3c91E B

CH,CH; QST TehTT
@ + BI'2 >

: :CH2 —~ CHy4

Br

Br

Br
|
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%
10. 3UEEEIAN Alfieh YrWFHHATSIEI-O-hiaTee(I1I) 1 9 & :

(A) [CO(NH3)5(N02)]+
(B) [Co(NHj3)5(NOo)I2*
(C) [Co(NHj3)5(ONO)I2*

(D) [Co(NHg)5(ONO)I*

11. (a) Tm=fafaga & @ wE-A1 7fvge 39 757 8 ?
(A) Ny
(B) I,
(C) SiC

(D) CO,

HAYAT

(b)  3TA: <higd H-IT Ueheh hITBehT H U Theh ShITBehT H TXHTIAT i
T Bt 2
(A) 4
B) 2
C) 1
(D) 3
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fAeferfaa g9 (997 @&aT 12 @ 16) ° U SIfUEHAT 79T 36 HROT HT
o f391 147 & | FAeaferfaa faweql & @ @gt swe &t gl |

(A) AR 3T HRIT HT T&! HYT B R RN, F(HYT I &t
T 7 |

(B) AMYHIA TR HROT gHI T&1 A 8, T HRUN, ATTH hl Tgt
AT 7E7 7 |

(C) ANYHA TEl e 7, =] PR TAd HAF 8 |

(D) SAMYHAA TTeTd HAA ], Trg BRI T&! HAT 7 |

12. 3py7:  p-EarhHd, B A Afd T 7 |

HRY : 3l ONE Soigg NI ®Hg ' qd
p-TTEIRATFATSS AT ol TTRica <ar 2 | 1
18. 379H9T : Tehid T Ufcsgisel 9Hg B o amesg W 2,4-81.w .
gieror & <A 7 |
HRI : TTehE Teh TI=Teh Iehdl & | 1

14. (a) 3WHY7:  A™E I AR HCl ¥ HEH T FeCly, <al
3 U1 FeClg &7 |

BRI : atufsha ® Cly, 19 &=t & St 76 FeCly
FeClg W STTa1ehTuT ohl ST hidl & | 1
3T
(b) e :  FARH W e W WA H A HT
SRUTTcHe Bl @ |

HR : FARA <hl AT H FI 1 IThR Bl T

g | 1
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15. S7@e7:  UUAd i qodl H U AR I (S5

F1frfsran o wid stfres rfirfsmamsfier gran 2 |
BRI : T 2,4-S1. 0.9, qheqor <ar 2 | 1
16. 37y®y7:  3chE €I o FAUh S8 & HH BId @ |
FR : IchE NET § g godl TRET 9 B § | 1
U @
fferfga 397 (397 G&F1 17 & 25) Tg-3709 I97 & 3R I&% T
2 37H FTE: 9x2=18

17. (a) 3G hl T=AN fIRgu S9
i) T i fham S S § a7, 3T
(i) SUATA Bl 573 K W Cu o 919 T fomat S1aT 2 | Ix1=2

YT

(b) T=faRga suran = Fifvw : 2x1=2
() UIAA ¥ U gRATEe
(i) P ¥ TR
18. 3Teyl foae wa ey fae™a ¥ e 3= foifau | 2

19. (a) §FA [Fe(CN)gl4~ 1 HHWI, IR, Treehd TG ol
IUPAC -9 TaiRgT | (Fe T 9TATY] 3hHTS = 26) 2
rera
(b) TohEeel & fodred Sl a1 B ? SUHGHASH <l H d-heThi
ok fa=Ime 1 A, o IR § oy Mol ohtd @ 2 2
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20. TIEC % vem wife Hr Afufwran % faw 99% Tf g9 § @ aren
T, AR % 90% U B ¥ @ a1 99 1 AT BT #
(log 10 = 1) 2

21. (a) TF=fefea & fow oo @S . 2x1=2
(i) EshH Gy gied- Stfeetentor sraeTd g9t § |
(Gi) TEISH A-oFiae = 319 % U Sy foaemq aFl
T TfiF gId 2 |
HAAT

(b) Mn 3T(Iehdd T@AT H TR0 STTEIATT &7 ST g 2 Mn <hl
HIF-HT STTFHIRIOT TEAT o 3Teh TAR § qAT AT 2 2

22, Tffga fufshamsti © We 8 Al AfYeRHeh/ATYhHel o ™
foafau - Ix1=2

(i) CHsCHO — > CH;CH,0H

OH
|
0 0 0

23. TS AR STGEaTaT o Ui e ANIGhISia &= & 2

[0 ddigq | 2

24, Tafafga srfufsranset & afmfea g = ffge : 2x1=2

(i) BRHE SHEMEREe i

(i) STEUSAIIHT]
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25. UH dwd [l AlGR g 72 g mol~! 8 AT = Theh HifFeH
ST & TorEeh! it <t ow s 400 pm% | afe 39T Tca 7-5gcm‘3
8, QI ST Teheh hITehT hl Thd hl Tg=THT | 2

Qus 1

J97 &I 26 T 30 FH-3T0T FFEl F I & IR I9F Y97 3 bl HT
g/ 5x3=15

26. (a) 918
(i) s s fspam 3sh $em i 3ufeafa o Mg & e W

(i) FARESE 6 R CHgCl &% @y fioiefi AlCly i
e § e W 31

(iii) B FARSS I fohaT AgCN H M W ? 3x1=3
arerat
(b) Tr=faRga suan =1 Fifvw : 3x1=3
(i) AT H oL

(i) 2-SHIINE ¥ 1-SHSY
(iii) TS FANIES § TUATSH 37

27. (i E° IYATCETEY YTcHS F1 & 2
@ Cu2*/Cu 4 ¢ g

(i) ScSt TEH & dferd TiSt T +=1 g1 3 2

(iii) TShHTT GTY qAT $Th AN SCEHIT AfhAATY AT S & 2 3IxI=3
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28. (a)

(b)

fefafaa get st gftna hifsw Ix1=3
i) TR
(i) U<Ee 99
(iii) fospfaepa WA
AT
AT BT 8 ST6 hIE ohl FTUTSHAT HEM & : 3
() THEIITH?
Gi) HIF?
(iii) HyN-OH ?

29. W@ H 293 K W a7 €@ 17-536 mm Hg & | & 20 g b
(WIeR g&aq™ = 180 g mol™1) i 500 g I W =eAT JTT &/, Al ST

oot & am™T g 1 Yieheld il | 3
30. TH veH Hife T Afufshan # 30 fire § 60% A BT R |ty
TiEhe HIT | 3

[fem T2 2 : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021, log 10 = 1]

wis ¥

97 GEr 31 @ 33 FH-3709 IHR-II & 97 & 3N Jedh J97 5 bl &7

g/
31. (a)

3x5=15

() Tr=fafeaa o e sron Sl
(I) PHg %! qa1 & NHg Y9t &R 3 |

(II) OF, % 3ifdfch STiasfloM —2 STiaflehtor Taee
ERUGIE

(II1) TS FHMH SR ST & |
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(b)

32. (a)

56(8)

(ii)

(1)

(i1)

1)

1 BT @

I) Cly, I 3rfufspan 308 Td 9 NaOH & HEH W;
3R

(II) Cu 1 AMNGRAT G5 HySO, § @MW W ?  3+2=5

HAYAT

SR Gled Y% Tg % (¢ fou U qu % AER W
frfafaa =i saferd HiNT

(I) HF, HCl, HBr, HI — 3= "Wl & wed 8¢
ELR

(I) NHg, PH3, AsHs;, SbH;, BiHg — 374 10 %
93d BT A U

1) Hy0, HyS, HySe, HyTe — Tl amed o agd
LKA T

N
I) Tid ¥ TF BId g; 3R
(II) YA ITFEThReh BId & 2 3+2=5
frafafiaa srfufseansti 4 A, B 92 C =1 vg=n+u :

C

rO3>AT'|§NaOH>B A

() CH; - CH,— OH

CH3 kMnO,KOH g+ _ PCly
(ID) A > A > B >C
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%
(ii)

(b) @A)

(i1)

[=]:5 ]
ebog
frefafga gmi § ug i
() CH;-CH,-CHO @ CH,- C-CH,
I
O
OH COOH
(II) @ LRI ©
3+2=5
Aaat
Frafafea stfufsranett 7 Icume/3cme « fafgu .
COOH
(D
CHO
() @ dig NaOH §
(a) SnCl, + HC1
(I) CH,CN >
(b) HyO*
ST Y
I) eI 3TFA HEHA T8 i AMGRATE T
<7 |
II) uiprevse (H,NCONHNH,) #, %had Th
— NH, SHisheidH s°H | 9ffifad gldra | 3+2=5
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Elp5E] e
o o

o o 0

33. (a) Tmafafga @ 1 298 K W fa.a1.sd (emf d91 AG i
Uieha @ﬁ‘m : 5
Mg (s) | Mg2+ (1073 M) || Cu2* (1074 M) | Cu (s)
fem w7 By =+270V, 1 F =96500 C mol-1, log10=1

AT
(b) () TAfaRga stfufsean o fog A GO @ log K, w1 dieheH
ﬁﬁm :
Fe?t (aq) + Agt (aq) —> Fe3* (aq) + Ag (s)
E° = +077V, E° = +080YV
Fedt/Fe2t Agt/Ag ¥
(i) STEAl & Td AT & IS 0 &1 3g@
HINT | 5T T AT fAfau | 3+2=5
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